
MODULE 7 LESSON 4 NOTES          SYSTEMS OF QUADRATIC & LINEAR EQUATIONS 

Find the intersection(s) of the graphs of the two equations. 

1) 𝑦 = 2𝑥ଶ + 20𝑥 + 44 
𝑦 = 2𝑥 + 8 
 
 

𝑦 = 2(𝑥ଶ + 10𝑥         ) + 44 

൬
10

2
൰

ଶ

= (5)ଶ = 25 

𝑦 = 2(𝑥ଶ + 10𝑥 + 25) + 44 − 50 
𝑦 = 2(𝑥 + 5)ଶ − 6 
 
 

𝑦 =
2

1
𝑥 + 8 

 
The graphs intersect in two places. 
(−6, −4) and (−3, 2) 
 
 
 
 
 

2) 𝑦 = −2𝑥ଶ + 8𝑥 − 12 

𝑦 =
1

2
𝑥 − 5 

 

𝑦 = −2(𝑥ଶ − 4𝑥         ) − 12 

൬
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൰

ଶ

= (−2)ଶ = 4 

𝑦 = −2(𝑥ଶ − 4𝑥 + 4) − 12 + 8 
𝑦 = −2(𝑥 − 2)ଶ + 4 
 
 

𝑦 =
ଵ

ଶ
𝑥 − 5  

 
The graphs intersect in one place. 
(2, −4) 
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3) 𝑦 = 𝑥ଶ + 12𝑥 + 36 
𝑦 = −2𝑥 − 12 
 
 

𝑦 = (𝑥ଶ + 12𝑥         ) + 36 

൬
12
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൰

ଶ

= (6)ଶ = 36 

𝑦 = (𝑥ଶ + 12𝑥 + 36) + 36 − 36 
𝑦 = (𝑥 + 6)ଶ 
 
 

𝑦 =
ିଶ

ଵ
𝑥 − 12  

 
The graphs intersect in two places. 
(−8, 4) and (−6, 0) 
 
 
 
 
 
 
 

4) 𝑦 = 𝑥ଶ − 4 
𝑦 = −𝑥 − 2 

 

 

𝑦 = 𝑥ଶ − 4 
 
 

𝑦 =
ିଵ

ଵ
𝑥 − 2  

 
The graphs intersect in two places. 
(−2, 0) and (1, −3) 

 

 

 

 


